1626303 16 NT3033

10.

OR (3121an)

Describe about meaning and importance of Budget.

qoic @ 3ref U9 98 © IR H quid & |

Define how price is determined under imperfect

competition.

Jigel gfeiRrar & s Jea &1 feivor
DY BT 8?7 AT I |

OR (372rd)
What are the measures to solve the unemployment.

UMY G X & AT U 2 2

What is direct tax ? Pointy out merits of direct tax.

6
JIE B T & 2 YdI& HX D [l Dl

91U |
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2019(0dd)

Sem - III/MOP
Mangerial Eco.

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question

carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question
carries 4 marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

TP Ued & 9 39T BT SR TP &) S8 (AR HH H)
BT ARy, 9T 4 Siid &1 o 9ad @ |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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Describe about free goods and economic goods

Auffe awqy ua aitie axqU & ar
qui & |

OR (3121an)
Write features of socialist economy.

THTerard) srefagavenr & favivdar @ ford ?

What do you mean by demand ? Explain it with

example.

HIT A AT FAT GHSA & 2 Qe & 91y
sG] AT B |

OR (3121a1)

Describe characteristic of imperfect competition.

argef yferafirar & faQtwar &1 quiq & |

NT3033

(i)

(iif)

(iii)

(iv)

3 1626303

arefomey @r @ ?

(31) @t

@) fasm=

(|) @t AR fag= i
(?) 379 A PIs 8

Whose definition of economics is analytical?
(a) Adam smith's

(b) Marshalls

(c) Robbins

(d) None of these

efama & feaar aRamw fazasHrars
27

(31) vsH e &1

() wreta &1

(|) <ifa=a @t

(?) 19 9 31 7€

The national income of a nation is :

(a) Government's annual revenue

(b) Sum total of factor's income

(c) Surplus of public sector undertaking
(d) Export minus Import

P.T.O



O'Ld

| 3
IRk @ lhikdjh ¢ Ky BSd ¢ KMlafkle

"SOIWIOUO0IJ JO UONIUYIP S, IS wepy urejdxq

(lprRR)IO

13 Ljab b Mb & 22D & DB) liiopli
14

-ooueuy o1qnd Jo soA1399[qo In0J 9qLIISA(

| 2 1:]ab
RIR @ hifRIS kb Ab & blkh & Lhik:D]h

“WeISeIp YIIM JOJO uonmIisqns noqe dqLsdJ

(Ipreie) MO
| 2 1D
I lhlkd]h (b BeRlId 1D Rlalk ® Erllafele

14
"SOTWOU0I

JO s,uIqqoy pue s[[eysIB]A Udamiaq sredwo))

€

€0€9791 €1 €E0ELN

uowdopaAap [ernsnpuy (p)

sassewr Jo uoneonpy (9)

juowdo[aAadp Jeany (q)

2IMNOLIFY JO UORZIUIOPOA (B)

i |

BIPUJ UI [}MOI3 OIWOU0I JOJ PASU UTew Y[,

B s bbRho ()

B B b kol (B)

B Ry 158 (b)

B 2iob (i)

i 2 IDeR s 1o b Blb kol b DAk

dA0qe oy 1V (P)
uononpoid ur asearouy (9)

Korjod ArejouoA (q)

s18png (B)

{, ysnoayy

BIPUJ UI POYOY9 9q ued 2o11d Surstr oy,

Absle 1db DlRE] bd Diklle (b)

bbb 16 lk|dsle 32bk ®h (B)
kiR PD 1¢ Rle & LRIR (b)

Rlie ®R|lb 1b Mdbrh (le)

2 Rlle RIRI 1 13d P

€E0ELN 14

(18)

(»)

(»)

(A1)

£€0€9791



1626303

(xx)

12 NT3033

gefamey o SuAr &1 3ref war @ -
(31) Suafirar &1 fafor

(3) Syaifirar &1 3id

(3) SuAfrar &1 SuHT

(?) 379 94 BIg 12N
GROUPB
Answer all Five Questions.
o . . 4x5=20
! i 9eHl @ STR < |
2. Describe four features of monopoly ?
4

UHIIeR & IR fadiydisn &1 qofqa &3 |

OR(37214T)

Write about the role of economist.

Fefamrell © g @ IR A ford |

NT3033

(vi)

(vii)

(vii)

(viii)

5 1626303

ARd & Alie e & g=
JATATIHAT B:

(@) &= &1 srgfaIBRor

(@) urfior faer

(|) o @ Rrer

(%) S &1 faera

Which of the following is most important in
determination of price ?

(a) Demand

(b) Supply

(c) Demand and Supply

(d) None of these

1ed o ez & freafafaa 9 4
S s Ayl & ?

(a1) =T

(@) gfed

(@) =T 3R gfed

(?) 379 9 @Ig 7

Which branch of economic analysis studies
the Income of one person ?

(a) Modern economics

(b) Classical economics

(¢) Micro economics

(d) Macro economics

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 NT3033

WG a7 b1 2k & ?
(31) yof WY

(@) 3rd W&

(@) wrdeife a=

(@) ¥ 9§ BIg Tl

Macro economics related to :
(a) Individual unit

(b) Economic system

(c) Dual system

(d) None of these

faxga srefure fewa d@dfta @ 2
(31) efaaa sars
(@) snfdi® =aaen
(\) <rEd cgazen
(]) 79 4 I3 T2

Which of the following is an economic
material ?

(a) Air

(b) Sunlight

(c) Building

(d) Sand

NT3033

x)

(xi)

(xi)

(xii)

7 1626303

IqER H &9 YR &1 9oR T2 urm
SITdT 87

(31) gof ufeaifrar

@) rgei gfeRar

(&) (3n) @R (@) <=

(@) 379 9@ @I =Tl

Whose demand is inelastic ?
(a) Radio

(b) Motor Car

(c) Jewellery

(d) Salt

fea®r A7 T dellaaR & ?
(31) Xfsar &1

(@) A BR &7

(d) Saert @1

(]) TH® &1

Which one is active factor of production ?
(a) Land

(b) Labour

(c) Both (a) and (b)

(d) None of these

P.T.O
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11.

OR (3121a1)

Compare between monopoly and perfect

competition.
TSRS R aom guf gfoifrar & g & |

What is Public debt. ? What are the source of
Public debt.

Ardoif® 0T FT 8 ? Ardoifid FoT &
BIFT—PIF Elid & ?

OR (3121an)

Describe characteristics of indifference curve.

Serf=dr 9 & fagiyar &1 aufq & |

kosk sk

1626303 17 NT3033

11.

OR (3121d1)

Compare between monopoly and perfect

competition.
THIRSR dom guf gfoifar & gaar & |

What is Public debt. ? What are the source of
Public debt.

ArdSifd T |71 8 ? gidoifid FoT b
BIFT—I Eid & ?

OR (31214r)

Describe characteristics of indifference curve.

SeIf=dr 9 & fagiyar &1 avfqa & |

koksk
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